F R 8T [E D TIRIREHER

I (75 (3)) BB L1E i (38) FBLiE
BREIEHE Elik=3 ==X va NO. 1 NO. 2 NO. 3 NO. 1 NO. 2 NO. 3
H18/11/02 | H18/11/02 | H18/11/02 | H18/11/02 | H18/11/02 | H18/11/02
HRIH L Cd |mg/kezE1E <05 <0.5 <0.5 <0.5 <0.5 <0.5
ST ED CN [mg/kglz =B < < < < <1 <1
ERIEIEEY O-P |mg/kgz={E s i3 i3 i3 i3 s
pis) Pb meg/kekz = B 15 17 16 14 19 13
iz 0l Cr6+ |mg/kefz =B s i3 i3 i3 i3 i3
e As meg/kekz = B 2.8 2.8 1.6 35 3.2 2.4
#KER T-Hg |mg/kgdz£1{E 0.17 0.05 0.29 0.23 0.12 0.14
7ILXILKERIEEW Al-Hg |mg/kgBz E 1B <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
REIEEDT=—)L PCB |[mg/kefzE 1B <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
K5 H.O (% 2.75 8.26 7.22 3.26 1.87 1.44
IERHISEEERIIEE - ERAMTIERERER
E R I & =B EfRTE
BREIEHE Elik=3 I=-Xiv) NO. 1 NO. 2 EER I NO. 3 NO. 1 NO. 2
H18/11/01 | H18/11/01 | H18/11/01 | H18/11/01 | H18/11/02 | H18/11/02

AINSPIN Cd |mg/kefrE{E <0.1 <0.1 <0.1 0.3 0.4 0.4
DT ALEY CN |mg/kefz 2B < 4 4 4 — —
EREEEY 0-P |mg/kelzEfE {1 <1 < 4 — —
fie) Pb mg/kedz & B 7 7 5 23 — —
7o 0L Cr6+ |meg/kefzE1{E <1 < < A — —
Atk As mg/kedz & B 1.7 1.3 1.4 2.8 1.5 1.8
Ik ER T-Heg [mg/keBz E1E 0.09 0.07 0.07 0.08 — —
ZILEILKERIEEY Al-Hg |mg/keB2 £ 1B <0.01 <0.01 <0.01 <0.01 — —
RUE{IEEDT=—)L PCB |mg/kefzE1{E <0.01 <0.01 <0.01 <0.01 — —
BEBE % 1.77 1.41 4.16 1.08 — —
JILRIAFIH U HEYE SRS mg/kedz & B <250 <250 <250 <250 — —
L] Cu _|mg/kefz=1E 21 14 9 28 12 9
K7 H.O [9% 15 11.1 11.7 27.2 15.4 28.4




